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QUESTION 1

The Product Owner is going on a three-week vacation. The team should be closing the current Sprint and starting a new
Sprint at the end of the first week of the Product Owner\\'s vacation. 

What is the best way to continue the Scrum rituals in this situation? 

A. Each Scrum team should ideally have two Product Owners to provide cover. 

B. The Product Owner should be requested to delay his vacation by a week. 

C. The Scrum Master should take over and cover for the Product Owner. 

Correct Answer: C 

 

QUESTION 2

What message can you give to a customer about a key benefit of using Scrum? 

A. Scrum will give customers more control over day-to-day activities. 

B. Scrum will help the team accept changes into the project at no additional cost. 

C. The team will show a demonstration of working software every few weeks. 

Correct Answer: C 

 

QUESTION 3

Why is the "Time and means or fixed unit" contract type of contract preferred in Scrum? 

A. This contract type is predictive. 

B. This contract type is adaptive. 

C. The contract type defines the scope upfront. 

Correct Answer: B 

 

QUESTION 4

What should the Scrum Master advise the team to give their main focus, while working in a global distributed team? 

A. Favor conference calls and video chats in order to save on travel budget. 

B. Place greater emphasis on team-building activities and cultural sensitivities. 

C. Provide at least four hours of overlap time by changing working hours. 
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Correct Answer: B 

 

QUESTION 5

A Scrum team failed to meet the Sprint objectives. One of the key members of the team fell ill and was away for two
days right at the beginning of the four week Sprint. 

What is the most likely reason that the team did not meet the Sprint objectives? 

A. The Product Owner is unable to prioritize. 

B. The team is lacking skills. 

C. The team did not plan the Sprint effectively. 

D. The team is over-worked. 

Correct Answer: C 

 

QUESTION 6

A team estimates a Story using the Planning Poker technique. The team decides to allocate five Story points to the
Story, because the Developers estimated two points and the Testers estimated three points. 

Which statement is true regarding this scenario? 

A. Points are assigned by the Scrum Master, not by the team. 

B. Points are assigned for the overall Story, not for parts of the Story. 

C. Points are never estimated, but always determined beforehand. 

D. The team forgets to ask the Product Owner about the estimate. 

Correct Answer: B 

 

QUESTION 7

All Scrum events are time-boxed events. What is the advantage of time-boxing? 

A. It ensures commitment of the Team. 

B. It facilitates osmotic communication. 

C. It maximizes productivity. 

Correct Answer: C 

 

QUESTION 8
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A Scrum Team is estimating User Stories. The Scrum Master suggests the Affinity Estimation technique. What is the
process of Affinity Estimation? 

A. Compare the Story to reference Stories and then estimate it. 

B. Estimate on your own, then discuss everyone else\\'s estimates. 

C. Sort all Stories based on their relative effort required. 

Correct Answer: C 

 

QUESTION 9

Who should update the work estimates during the Sprint? 

A. The Development Team 

B. The Project Manager 

C. The Product Owner 

Correct Answer: A 

 

QUESTION 10

Which means of communication is the most preferable to clarify the interpretation of a requirement? 

A. E-mail 

B. Face-to-face 

C. Instant messaging 

D. Telephone 

Correct Answer: B 

 

QUESTION 11

A Scrum Team works on a project in 2-week Sprints. During the Sprint Planning meeting of the third Sprint, 

the Product Owner says: 

"I will be going on holiday in 2 weeks. Let\\'s change the duration of this Sprint to 4 weeks, so that I will be 

back when it ends." 

Should the duration of the sprint be increased? 

A. Yes, because the Product Owner must be available at the end of a Sprint. 
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B. Yes, because Sprint duration can be anything between 2 and 4 weeks. 

C. No, because the Sprint duration is not based on single events. 

D. No, because only Development Team members may change Sprint duration. 

Correct Answer: B 

 

QUESTION 12

Which Scrum event is meant to look back and improve upon the finished Sprint? 

A. Release Sprint 

B. Sprint Retrospective 

C. Sprint Review 

Correct Answer: B 

 

QUESTION 13

How does Agile bring predictability to the Planning process? 

A. By allowing the customers to review the progress often. 

B. By assigning most of the responsibility to the Product Owner. 

C. By making the team self-organized and self-planning. 

D. By providing early visibility into the team\\'s progress. 

Correct Answer: D 

 

QUESTION 14

How should \\'done\\' be defined when multiple teams are working on a single product? 

A. All teams must have the same definition of \\'done\\'. 

B. Each team must define and use their own definition of \\'done\\'. 

C. The Scrum Master defines when the item is \\'done\\'. 

Correct Answer: A 

 

QUESTION 15

What is a characteristic of a well-designed Agile work space? 
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A. It has a silent zone to facilitate concentration. 

B. There is enough space for information radiators. 

C. Work stations are personalized for team members. 

Correct Answer: B 
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